Lisung:

Starl  gpTil12:16)=4 kgVi2,T=14 kgV(5:25)=25 geT(25:30)=5
kaVi34p=12 g T 12)=1 KEVES =15 pET(21:27 =3
kgVid: 1428 kgVi3; 721 geT(IG 1616 kgVi2,17)=34
geT(18;27 )= kg Vi 510 gpT(35. 3= | kg V1T 1Tp=17
kgVi6)=18 goTi8; 1 6= gV 10:25)=50 gpT(24;54 =6
kgVi9:12)=34 gaT(26:65)=13 kW1 =10 ppT(E50:T50)=150
kgVil20; 150)=-600 gaTi(l4;35)=7 kgVi(24:36)=72 geT(23:48)=24
kgVid40;48)=240 geTi6d9%)=32 g T{40;60)=20 kgVil4:35=T0
gET(26:22)=2 o T 1 20,80) =40 kg 18:2T)=54 Ziel

To— zur Vollversion


https://www.netzwerk-lernen.de/Mathe-Domino-groesster-gemeinsamer-Teiler-kleinstes-gemeinsames-Vielfaches

Domino:

s netzwerk e maza
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